0- 266

39

0000000000000 @DO210090)

@

2

27

16#

18#

[ )

18#

18#

164

] 18#

—em T T sy

TR T TE YRR TN TREE TRy TR T TR IR AT TRE TN P T IT
T ™ 3 kA EARRA

I

-

|
X

@ e e

I"H" —

= =
—iEE
=

i

= Hr
BT

S S ]
B

?;l‘iL&_:

+

45m
127m

16#SC

532-0011

5-5-15

-529-

06-6886-7281



0-266 0000000000000 @DO210090)

3.1 SC STEP

16#SC 127m y_2 o P80

Stepl

K P80
Step2 |2 .., P68

3 Z S 68

Step3 Z S K sc

16#SC Step4 g P68

1 Z S BN P68

s )

- =~ ] =

16#SC 18#

16#5C = | =

Stepl  Stepil o X )

3.3 | =

Step10 . § P67

Stepll g P67
210

270

kgl

1200 102

1100 [——

>
(¢H) 1000 0-48 106

(2) 800

(3) 600

400

200

320 0
3.4

120km/h

3 1,100kg/

25

,2008.9,



